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PART A: Grammar
Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

T2 31- Learning represents an enduring change in behavior or in the capacity to behave in a given fashion, .... .

1) and practice or other experiences result from

2) which results from practice or other experiences

3) from which results practice or other experiences

4) practice or other experiences which they result from

TR 32- A meta-analysis of 50 years of research concluded that classroom management has almost .... student ability.

1) as much impact on student learning as 2) so much impact on student learning that is
3) as much as an impact on student learning as 4) so much impact as on student learning as on

TR 33- After personal standards have been adopted, discrepancies between a performance and the standard

........... evaluative self-reactions, which serve to influence subsequent behavior.
1) activate that which it is measured against 2) which is measured against by activating
3) to activate the measurement against 4) against which it is measured activate

TR 34- Knowing her troops would perish if they didn't give their all, and knowing that even a single

goldbricker could scuttle the mission, the Queen became a martinet, ........... .
1) draconian punishments threatening all who didn't perform well enough
2) threatening draconian punishments for all who didn't perform well enough
3) draconian punishments threatened for all those who didn't perform well enough
4) for all who didn't perform well enough draconian punishments were threatened

TR 35- Certainly Schon’s conception of reflection has much to recommend it. His conception of reflection-

in- and on-action and ........... adds both texture and substance to Dewey's understanding.
1) the accompanying of the spiral of appreciation, action, and reappreciation
2) the spiral of appreciation, action, and reappreciation that accompany
3) the accompanying spiral of appreciation, action, and reappreciation
4) accompanies the spiral of appreciation, action, and reappreciation

2 36- Success is thought to be based on such factors as checking one's performance in a language, being

willing to guess and to ‘take risks’ with both comprehension and production, seeking out opportunities to
practice, ........... , and many others.

1) developing efficient memorizing strategies

2) to efficiently develop memorizing strategies

3) by to develop and memorizing efficient strategies

4) and to develop strategies efficient for memorizing

TR 37- The genre of literary interpretation is more specialized than most of the other genres addressed in

this section, ........... .
1) the table below suggesting it 2) and below in the table suggested
3) as suggested by the table below 4) for the below table suggesting it

R 38- Perhaps underlying the debate is that familiar, false opposition set up between different kinds of

fiction, according to which enjoyable novels are held to be somehow slightly lowbrow, ........... .
1) but not being considered as truly as literature unless it is a tiny bit dull novel
2) and a novel is not considered true literature unless it is a tiny bit dull
3) which is not considered as true literature unless being a tiny bit dull
4) unless it is a tiny bit dull, a novel is not considered true literature
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Explanation: option 1 is out because one can ask “result from what”? Option 3 is out because results which is
singular does not agree in number with practice and other experiences. Option 4 is out because they refers to
practice and other experiences. A referent and its antecedent cannot be used together. Option 2 is the best though
this option has its own problems. Which results from ... is a relative clause. A relative clause must be placed as
close as possible to its antecedent, which is here learning. Option 2 would be correct if the author said resulting
from rather than which results from.

D108 oo Sl 69 6 eT0b pegmtils SUlg o3l Hlad a4 ¢ oy NS o i aS 04 cpl 5l S regh Jle 0 o« 4y 38 XY
Explanation: commit these two patterns to memory:

Noun 1 + transitive verb + as much / many + object + as + Noun 2
.... Classroom management (N1) has (tra V) as much impact on student learning (obj) as student ability (N2) .
The pattern can also be paraphrased as follows:

Noun 1 + transitive verb + object + as much / many + as + Noun 2

...classroom management has impact on student learning as much as student ability.

UiiSTly 093 0,8 o )3 o ge 0,8dee o] Billae 45 (g0 lailinl g o Sles o S| (cated slas lailisl 3Bl 5l am «Fr 4y F XY

S e Jb 1, k)
Explanation: our sentence lacks a main verb, so 2 and 3 are out. Option 1 is out because it is not clear what that
which refers to. Moreover that which is awkward and not usable in advanced writing.

plos Wl oo S5 9,0k Ko (S 5 Cuildoo 97 g Wedoo atiS by (I pas Djge )3 Ceils e oS aSke €Ty 4l 35 YF
B9 oo AiS Oabay Wbl AL g9 0 Sles a5 S o CaS g0l 580 08 SO A ha W5 e | Cai)}A‘LQ

Explanation: The subject of a participial clause is the same as that of the main clause, so here the subject of both

clauses is the Queen. Also see the following example:

A spate of laboratory experiments has provided clues, at the cellular level, to the processes of aging. The

implications have fueled hopes that medical advances will slow our decline, extending longevity well beyond the

century mark.

Therefore option 2 is the best.

(bl Az g Jes 0550 40 JAL, g Joe yo J.als 3l ey clilo o osle 58S gl g0l e J.els Sy90 40 g Cubld Lo «t» FEPRTI
wlRloe 30 B 5 Syo a2l g Jee
Explanation: 4 is out because and connects two parallel structures. However, the structure preceding and is a

noun phrase but what follows and in this option is a verb phrase. Option 2 is out because accompany is transitive,
but here it lacks object. Option 1 is out because the accompanying of the spiral of sounds wordy.

b (npes Gl olbo B pdySan; g Siome 4 bles (gt 3 See oy p 9z Shelse 4 Colidee 2580 AT (D iy S YF

Sl (Kows ;50 ele (paiz g aladls sla sl il
Explanation: Items in a sequence require strict parallelism. Because the items in this sequence begin with a
gerund, so must the item in the blank. So only 1 is correct.

....checking ....., being willing .......... , seeking out ..., developing ....




QA 6558 (L) 095 (ol aolisuly SATS S 4y iy e ¥ @

ol GiSu ] o sadiion bl 00 5l 5 paass [l o0l dex 5 IS s o0 ) Jeu j0 4T jshailes «¥» a5 YV
Explanation: whenever you want to say «ass o ;ylis p; JSo /| Jsa 45 ghilena», use one of the following structures:

..., as the figure / table etc shows / indicates/ suggests ....
...., as showed / indicated / suggested by the figure etc.

g b liz clagle, o b ilhe a5 col dilizee JLs clogbiols e ol wns o e5i3 |y oy ol slingey a5 ass] «P» aig3¥ YA
il aAliS s (o b aS] Ko e andly Sl o,y 4] 5 0k diydole

Explanation: two structures connected by and require strict parallelism:

..... according to which enjoyable novels are ..... , and (according to which) a novel is not considered ....

o3l 3pgd ey
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Heinous: very shocking and immoral

Recurrent: happening or appearing several times. Collocation: recurrent theme

mordant wit/satire/humour: unkind and insulting humour etc that is also funny

lackluster: not exciting, impressive

Ll oy S o8 Sy ) Zledsl xe jeim 45T oleaze b zlgosl «F» aiy 35 _Fe
Innocuous: not offensive, dangerous, or harmful
Deity: a god or goddess
Solicitous: very concerned about someone’s safety, health, or comfort
Import: importance or meaning
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Suborn: to persuade someone to tell lies in a court of law or to do something else that is illegal, especially for

money

Intercept: to stop something or someone that is going from one place to another before they get there

Incense: to make someone very angry

Manumit: release from slavery; set free

Yl R e P Y PWIR U P RN IRV S JUE LI IR VL g WA S Cp SR VEL SN ) KW} QT Slp s s e &, Wl ) S« a5 -FY
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Flummoxed: completely confused by something
Exhilarated: feeling extremely happy, excited, and full of energy
Languish: to be or become feeble, weak, or enervated

Somnolent: almost starting to sleep
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Script: the written form of a speech, play, film etc

Credo: a formal statement of the beliefs of a particular person, group, religion etc

Missive: a letter — often used humorously

Encryption: protecting information by putting it into a special code that only some people can read, especially
information that is on a computer
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PART B: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

R 39- Because Jack did not like following orders, he found it difficult to listen to his teacher’s ..........
instructions.

1) mendacious 2) peremptory 3) pedestrian 4) maladroit
T2 40- An hour of detailing his complaints against his boss served not to .......... Ritchie’s unhappiness with

his job but to increase it.
1) blight 2) disabuse 3) slake 4) eschew
R\ 41- The garrulous woman was considered .......... for talking during the funeral service. It was certainly
considered a faux pas.
1) gauche 2) incoherent 3) furtive 4) lugubrious
W 42- In his .......... , Seymour no longer had the attention span to read long novels and resorted instead to

gossip magazines and television news programs.

1) tableau 2) dotage 3) finesse 4) savoir faire
W 43- ... by nature, the young man refused to sit down on the bus, even when he was asked politely by
the group leader.

1) Desultory 2) Listless 3) Monastic 4) Pugnacious
A 44- The police officers .......... with the bank robber, finally wrenching the gun from his hand.

1) tussled 2) petrified 3) meddled 4) gamboled
R 45- In a speech full of .......... , Mr. Watson criticized his employees for their lack of creativity and their
unwillingness to work overtime under deadline pressure.

1) fortitude 2) encomium 3) invective 4) edification
T2 46- In earlier eras the ability to be .......... was prized, but in this day of microphones and public address
systems it is not required.

1) articulate 2) stentorian 3) didactic 4) orotund
R 47- Niko’s robust health was .......... by poor eating habits, a lack of exercise, and his high — stress job as
an emergency medical technician.

1) reciprocated 2) attenuated 3) ossified 4) sullied
R 48- “Don’t be 50 .......... ,” advised the Millers’ stockbroker. “It’s foolish to put all of your money in high

— tech stocks because they are popular right now. You’ve got to think about which industries will be
successful in the years to come.”

1) myopic 2) sanguine 3) ravenous 4) pecuniary
W 49- Penny ......... her feelt and pounded her fists in a histrionic display of disappointment at not
winning the science award.

1) constricted 2) faltered 3) stumbled 4) stamped
R\ 50- This store specializes in .......... products such as saddles, reins, bits, and blankets.

1) lupine 2) simian 3) equestrian 4) bovine
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Mendacious: not truthful
Peremptory behavior, speech etc. is not polite or friendly and shows that the person speaking expects to be
obeyed immediately { joloSou sl o}
Pedestrian: ordinary and uninteresting and without any imagination
Maladroit: not clever or sensitive in the way you deal with people
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Blight: to spoil or damage something, especially by preventing people from doing what they want to do
Disabuse: to persuade someone that what they believe is not true
Slake: satisfy. Collocation: slake your thirst/ a desire / a craving etc. { ol 4,5}

Eschew: avoid doing or using sth
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Gauche: doing or saying wrong or impolite things, especially because you do not know the right way to behave
{estpet
Incoherent: not expressed or organized clearly, and therefore difficult to understand
Furtive: behaving as if you want to keep something secret
Lugubrious: very sad and serious — sometimes used humorously
Faux pas: an embarrassing mistake in a social situation
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Tableau: a group of people shown in a work of art
In your dotage: in a very old age { s, ¢ 3}
If you do something with finesse, you do it with a lot of skill and style
Savior-fair: the ability to do and say the right things in social situations
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Desultory: done without any particular plan or purpose

Listless: feeling tired and not interested in things

Monastic: relating to monks or life in a monastery

Pugnacious: very eager to argue or fight with people {y>o i « 2lses)

53,8 o @l 1 ol Lol 5 wond Ay & Cowss ST 3lo b s lygale €D 4y 35 FF
Tussle: to fight or struggle without using any weapons, by pulling or pushing someone rather than hitting
them { o5 o5}
Petrify: frighten
Meddle: to deliberately try to influence or change a situation that does not concern you, or that you do
not understand
Gambol: to jump or run around in a lively active way
2 6,LS ol 4y SMle o g B ilai bl as ]y 03 LSS wer (SLd g 15l 5l 5 aS s Jsb o (gl BT «F» 4y 35 -F0
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Fortitude: courage shown when you are in great pain or experiencing a lot of trouble
Encomium: the expression of a lot of praise
Invective: rude and insulting words that someone says when they are very angry {psluss « Sta}

Edification: the state of improving someone’s mind or character by teaching them something
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Articulate: able to talk easily and effectively about things, especially difficult subjects
A stentorian voice is very loud and powerful {usl « 3l,5555}

Speech or writing that is didactic is intended to teach people a moral lesson
Orotund: (of a person's voice) resonant and imposing.
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Reciprocate: to do or give something, because something similar has been done or given to you
Attenuate: to make sth weaker {5 cxs)

Ossify: to become unwilling to consider new ideas or change your behavior
Sully: to spoil or reduce the value of something that was perfect
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Myopic: unwilling or unable to think about the future, especially about the possible results of a particular action —

used to show disapproval { - oasS (oo}

Sanguine: happy and hopeful about the future

Ravenous: extremely hungry
Pecuniary: relating to or consisting of money
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Constrict: to limit someone’s freedom to do what they want
Falter: to become weaker and unable to continue in an effective way
Stumble: to walk in an unsteady way and often almost fall
Stamp: to walk somewhere in a noisy way by putting your feet down hard onto the ground because you are angry

{ommss b}
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Lupine: wolflike; fierce; ravenous
Simian: similar to a monkey
Equestrian: relating to horse-riding { s low ool 4 b 1o}

Bovine: relating to cows

€ &y 35 =0

The author of the passage thinks highly of intuition. Therefore, options 3 and 4 are wrong. Although intuition is
good, the passage implies, it should not be used as the sole factor in decision making. Thus, option 2 is also wrong.

«¥» M)f =0Y

According to the first paragraph, expertise enhances intuition [contrary to popular belief, expertise increase rather
than decreases effective intuition]. This means that a person who exercises intuition without considering expertise
is not likely to be as competent as one using both simultaneously.

«F» M)f oY

The author quotes Immanuel Kant to support this earlier statement that intuition, like theory, is needed to explain
what data describes, and good data can only enhance intuition, whether by rectifying or reinforcing it.

«» asy )f ) 4
The phrase signal from the noise in the presence of data surplus is used metaphorically to stress the existence of a
lot of distracting factors/ data. According to the second paragraph, when one uses intuition, theory and expertise,
they can distil the signal from the noise in the presence of data surplus. This implies that intuition, theory and
expertise are important in dispelling irrelevant data.
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PART C: Reading Comprehension
Directions: Read the following two passages and select the choice (1), (2), (3), or (4) that best answers each
question. Then mark the correct choice on your answer sheet.

PASSAGE 1:
A new study, published in the journal Social Cognitive and Affective Neuroscience (SCAN), explores how a
specific brain region helps knit together memories of the present and future self. Injury to that area leads to an
impaired sense of identity. The region—called the ventral medial prefrontal cortex (vmPFC) may produce a
fundamental model of our self and place it in mental time. In doing so, this study suggests, it may be the source of
our sense of self.

Psychologists have long noticed that our mind handles information about one’s self differently from other
details. Memories that reference the self are easier to recall than other forms of memory. They benefit from what
researchers have called a self-reference effect (SRE), in which information related to one’s self is privileged and
more salient in our thoughts. Self-related memories are distinct from both episodic memory, the category of
recollections that pertains to specific events and experiences, and semantic memory, which connects to more
general knowledge, such as the color of grass and the characteristics of the seasons.

SREs, then, are a way to investigate how our sense of self emerges from the workings of the brain—something
multiple research groups have studied intensely. For example, previous research employed functional magnetic
resonance imaging (fMRI), a method that measures blood flow as a measure of brain activity, to identify regions
that were activated by self-reference. These studies identified the medial prefrontal cortex (mPFC) as a brain region
related to self-thought. The mPFC can be further divided into upper and lower regions (called dorsal and ventral,
respectively), which make different contributions to self-related thought. The dorsal section plays a role in
distinguishing self from other and appears to be task related, whereas the ventral section, the vimPFC, contributes
more to emotional processing.

In the new SCAN study, the researchers used the self-reference effect to assess memories of present and future
selves among people with brain lesions to the vimPFC. The scientists worked with seven people who had lesions to
this area and compared them with a control group made up of eight people with injuries to other parts of the brain
as well as 23 healthy individuals without brain injury. By comparing these groups, the scientists could investigate
whether brain lesions in general or those to the vmPFC specifically might affect SREs. All people in the study
underwent a thorough neuropsychological evaluation, which confirmed that they were within normal ranges for a
variety of cognitive assessments, including measures of verbal fluency and spatial short-term memory. The
researchers then asked the participants to list adjectives to describe themselves as well as a well-known celebrity,
both in the present and 10 years in the future. Later, the participants had to recall these same traits.

R 51- The passage most probably continues with a discussion of ........... .

1) the reports made by the SCAN study participants

2) how the new findings can change our view of our “self”

3) whether the procedures used by the researchers managed to elicit appropriate responses

4) differences found between the participants in verbal fluency and spatial short-term memory

TR 52- All of the following are stated in the passage about the ventral medial prefrontal cortex EXCEPT that it ... .

1) helps self-related memories be more salient than some other memory types
2) is involved in pulling together memories of the present and future self

3) embraces two sections that mimic each other’s functions

4) may assist us in formulating a model of our self

™ 53- According to the passage, the self-reference effect .......... .

1) is a construct whose validity is yet to be objectively established

2) can diminish in its force if any part of the brain is damaged or deactivated

3) is concerned with the effect our sense of self exerts on the workings of the brain

4) can account for the salience of self-related memories compared to other types of recollections
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T2\ 54- What is the main function of the last paragraph?

1) To describe the method of data collection used in a study

2) To compare and contrast the findings of a study with those of other ones

3) To discuss the implications of the findings of a groundbreaking investigation

4) To introduce a novel approach to studying the link between present and future memories, on the one hand,
and our conception of our self, on the other

TR 55- What was used as a pre-test in the study reported in the last paragraph?

1) The degree of damage to the participants’ vmPFC
2) Cognitive as well as non-cognitive measures

3) The participants’ overall health condition

4) A neuropsychological evaluation

PASSAGE 2:

A recent column in a well-known newspaper asked “Will my grandkids still love me if I buy them nonfiction?” It’s
a question rooted in adults’ perception of what children like and how they decide which books to read, and it
actually belies the fact that we are in a “golden age” for children’s nonfiction. While the nonfiction of our
childhoods was less exciting, the variety in nonfiction these days is amazing. The ease with which we can create
graphic- and photo-heavy, well-designed nonfiction means that children are gravitating to nonfiction books like
never before. We’ve long assumed that kids have to be convinced that reading is pleasurable, especially when the
task is learning about our world instead of a fictional one, like Narnia. Yet, researchers and librarians who have
tracked the reading preferences of real, in-the-wild kids would disagree. These kids need no convincing.

When researchers asked 84 elementary school children whether they preferred the storytelling style of narrative
fiction and nonfiction, the factual style of expository writing, or both, 42 percent said they preferred expository
writing. Only 8 percent of adults questioned felt the same way about expository writing, and more than half said
they preferred narrative writing. Expository writing, the basis of much of nonfiction, is a favorite of children who
are just discovering the world of reading. Despite that preference, the grownups don’t seem to be listening; right
now only 17-22 percent of books available in classroom collections are nonfiction.

So, yes, your kids, your grandkids, your bonus kids, all will love you for buying nonfiction. Like many other
grown-ups out there, I had no idea this was the case. And while fiction has many subcategories—mystery,
romance, sci-fi—until recently, nonfiction has all been lumped into one category. Breaking nonfiction down into
five easy-to-understand types makes it easier for you, and your kids, to find books that light a spark.

Many of today’s books look nothing like nonfiction did when we were kids. You can find visually inviting and
wildly interesting books about anything. A totally hilarious take on the Earth’s history, as told from the perspective
of the Earth itself. A biography of the little girl who went from having lizards at her tea parties to becoming the
first female curator of reptiles at the British Museum. A playful mental experiment on what it would look like if
you and your friends had the teeth of other mammals.

T2 56- What is the best title for the passage?

1) Fiction and Nonfiction: The Gap Is Closing 2) Nonfiction Is Cool, and Our Kids Know It
3) An Emerging Generation of Bibliophiles 4) A New Nonfiction Genre for Kids

™ 57- Why has the writer mentioned “Narnia” in paragraph 1?

1) To make the point in a comparison more tangible

2) To introduce the best in a series dubbed as fictional

3) To explain why book reading used to be pleasurable

4) To exemplify graphic- and photo-heavy, well-designed fiction
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™ 58- Why has the author stated, “... only 17-22 percent of books available in classroom collections are nonfiction”
(paragraph 2)?
1) To argue against a fallacious assumption held by adults who believe children cannot identify their own real needs
2) To prove that school authorities are not informed by research related to kids’ reading preferences
3) To accentuate a nascent trend that will soon impose itself on adults’ will
4) To represent a discrepancy between what is supplied and what is demanded

T2 59- Which of the following can be inferred from the passage?
1) The kid’s more tendency for nonfiction is a result of a change in their own mindset rather than a change in
the variety this genre enjoys today.

2) Different from fiction, it is hard to find criteria based on which to categorize nonfiction into easy-to-
understand types.

3) There is a congruence in opinion between researchers and adults about what children’s favorite of reading is.
4) To read nonfiction, children do not necessarily need any persuasion on the part of adults.

T2 60- Which of the following best describes the organization of the last paragraph?
1) A traditional point of view is reiterated and then disparaged.
2) A conventional model is dismissed and an alternative introduced
3) An assertion is made and several examples are provided to illustrate it.
4) The causes of a phenomenon are described, and then its effects are discussed.
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51- Choice "1"

To answer questions like this, we are required to carefully analyze the last paragraph, particularly the last sentence
of the passage. The last sentences of the passage state: “The researchers [in the new SCAN study] then asked the
participants to list adjectives to describe themselves as well as a well-known celebrity, both in the present and 10
years in the future. Later, the participants had to recall these same traits.” Then, the passage most probably
continues with a discussion of the researchers’ findings regarding the participants’ recalling adjectives.

52- Choice "3"
Option (3) is actually not given. Options (2) & (4) are given in the first paragraph:

.. explores how a specific brain region helps knit together memories of the present and future self (option (2)).
Injury to that area leads to an impaired sense of identity. The region—called the ventral medial prefrontal cortex
(vimPFC) may produce a fundamental model of our self (option (4)) .....

Option (1) is given in the second paragraph:

..... Memories that reference the self are easier to recall than other forms of memory. They benefit from what
researchers have called a self-reference effect (SRE), in which information related to one’s self is privileged and
more salient in our thoughts.

If you carefully read the second paragraph, you can easily notice that this saliency is due to the ventral medial
prefrontal cortex (vmPFC).

53- Choice "4"

Options (1) & (2) are not given.

Option (3) is wrong because according to the passage, SREs, then, are a way to investigate how our sense of self
emerges from the workings of the brain.

Option (4) is correct because according to the second paragraph “..... Memories that reference the self are easier to
recall than other forms of memory. They benefit from what researchers have called a self-reference effect (SRE), in
which information related to one’s self is privileged and more salient in our thoughts.”

54- Choice "1"

1 : The last paragraph is concerned with the research method used by the new SCAN study to collect its data.
2 : No comparisons are drawn in the last paragraph.

3 | No discussions of implications are offered in the last paragraph.

4 : Definitely not pertinent

55- Choice "4"

A pre-test is a kind of test given to participants in a research project prior to the main test. In the study conducted
by SCAN, the thorough neuropsychological evaluation served as a pre-test that was given to participants prior to
the main test, i.e., a test to investigate whether brain lesions in general or those to the vimPFC specifically might

affect SREs

56- Choice "2"
The whole passage is organized around this central topic that ‘Nonfiction is cool and our kids know that’.

57- Choice "1"

The answer lies here:

Weve long assumed that kids have to be convinced that reading is pleasurable, especially when the task is learning
about our world instead of a fictional one, like Narnia.

The word ‘Narnia’ is given as an example of a fictional task. Examples are usually given to make a point more
clear and tangible.
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58- Choice "4"

The answer lies here:

“Expository writing, the basis of much of nonfiction, is a favorite of children who are just discovering the world of
reading. Despite that preference, the grownups don’t seem to be listening, right now only 17-22 percent of
books available in classroom collections are nonfiction.”

The italicized portion is actually meant to further support the bolded portion.

1 | Not given

2 : Actually the passage implies that they are informed, yet the grownups [probably including school

i authorities] are not listening.

i from adults’ belief that kids like fiction. Thus, if by a nascent trend, the author means the italicized portion,
: then one can argue that this trend will probably support (not impose itself on) adults’ will.

|

i

i

i The fact that right now only 17-22 percent of books available in classroom collections are nonfiction stems
|

|

i

i From the above discussion, we can infer that there is a discrepancy between what is demanded (nonfiction
|

|

i books) and what is supplied (mostly fiction rather than nonfiction books).

59- Choice "4"
1 : Not given
2  The fourth paragraph states that “And while fiction has many subcategories—mystery, romance, sci-fi—until
é recently, nonfiction has all been lumped into one category. Breaking nonfiction down into five easy-to-
é understand types makes it easier for you, and your kids, to find books that light a spark.” From this statement
é we cannot infer that finding criteria is hard.

: A great attractive choice, but certainly not inferable. (The reason is given in option (4))

i The first paragraph states that We [adults] have long assumed that kids have to be convinced that reading is
i pleasurable, especially when the task is learning about our world instead of a fictional one, like Narnia. Yet,
i researchers and librarians who have tracked the reading preferences of real, in-the-wild kids would disagree.
These kids need no convincing.

This implies that there is a congruence in opinion between researchers and adults NOT about what children’s
| favorite of reading is BUT RATHER about whether kids need convincing. Therefore, option (3) is wrong yet

option (4) is correct.

60- Choice "3"

In the last paragraph, an assertion is made: Many of today’s books look nothing like nonfiction did when we were
kids. You can find visually inviting and wildly interesting books about anything.

Then several examples are given to illustrate this assertion:

“A totally hilarious take on the Earth’s history, as told from the perspective of the Earth itself. A biography of the
little girl who went from having lizards at her tea parties ......... ”
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& 1- Which of the following is a case of epenthesis?

1) beet ... peet 2) shoe ... chew

3) thumb ... sum 4) please ... puhlease
W 2- Which of the following is not a case of assimilation?

1) dog ... gog 2) bunny ... nunny

3) yellow ... lellow 4) swing ... fwing

¥ 3- Which statement is true about the following list of words: piano, tycoon, liaise, babysit?
1) The two first words are instances of borrowing and the two last of backformation.
2) The two first words are instances of conversion and the two last of compounding.
3) The two first words are instances of blending and the two last of conversion.
4) The two first words are instances of borrowing and the two last of acronyms.

& 4- Which maxim is violated in the following context?
A has betrayed a top-secret of his friend B to a business rival. B said to his audience who knows
what A has done to B: A is a fine friend.

1) Maxim of Quantity 2) Maxim of Quality

3) Maxim of Manner 4) Maxim of Relevance

¥ 5-Which of the following is FALSE?
1) In recursion, each noun phrase has the potential to generate a prepositional phrase, which may generate
another noun phrase, which may generate another prepositional phrase.
2) A form of communication that arises when people come into contact sharing no common language is known
as pidgin.
3) Chomsky’s linguistic competence refers to language user’s grammatical knowledge of syntax, morphology
and phonology, as well as social knowledge about how and when to use utterances appropriately.
4) The theory that language determines other aspects of culture since language provides the categories through
which social reality is defined and constructed is called the Sapir- Whorf hypothesis.

& 6- Which of the following expressions is NOT structurally ambiguous?
1) Flying planes can be dangerous.
2) We met an English history teacher.
3) These are designed for small boys and girls.
4) The parents of the bride and groom were waiting outside.

. 7- Which of the following is FALSE?
1) Entailment is not a pragmatic concept.
2) Speakers not sentences have presuppositions
3) Words that add meaning to the sentence are known as function words.
4) Grammar is broader than syntax. It involves syntax, semantics, and pragmatics.

& 8- Which of the following is a case of entailment?
1) It isn’t funny that he came late. He came late.
2) Are you still such a bad motorist? You were a bad motorist.
3) We imagined that we were in the village. We weren’t in the village.
4) The president of this country is a bachelor. The president of this country is unmarried.



3 b3 v 3gel aobiduuly g ¥ s i s

2 9- Which of the following refers to a boundary line between regions that vary in a particular linguistic feature?

1) Dialect 2) Diglossia 3) Isogloss 4) Sociolect
. 10- What are the spatial deictic expressions used in 7 am busy now so you can’ t visit me. Come back later?
1) now , later 2) come back
3) I, you 4) you
W 11-Which of the following is a derivational morpheme?
1) -ation in vocalization 2) - ation in vacation
3) -ation in nationality 4) - ation in station

& 12- Which of the following is NOT related to coherence?
1) Allows the reader to make sense of the text because concepts and relations are mutually accessible and
relevant.
2) The grammatical and lexical relationship between different elements of a text which hold it together
3) The semantic unity created between the ideas, sentences, paragraphs and sections of a piece of writing.
4) A semantic property of discourse formed through the interpretation of each individual sentence relative to
the interpretation of other sentences, with "interpretation™ implying interaction between the text, the reader and
the writer

W 13-Which of the following is used in the following sentence: What do you think about this: Mom's
getting married?

1) Ellipsis 2) Substitution
3) Cataphoric relation 4) Conjunction
W 14- What distinguishes pragmatics and semantics is whether ............. is considered.
1) context 2) speech act 3) reference 4) usage

™ 15- If an act is performed which is a consequence of or a change brought about by an utterance, it is
Known as .....ceeeeeee

1) an illocutionary act 2) a performative act 3) a perlocutionary act  4) a locuctionary act
R, 16- If we think of a sentence as what people say in the course of communication, it becomes a(an) .................. .

1) constative 2) directive 3) expression 4) utterance
WD 17- 1N e, a descriptive grammar begins with a deep structure that is semantic and consists of
combinations of semantic features and semantic relations.

1) Generative syntax 2) Generative semantics

3) Interpretive theory 4) Interpretive semantics

=, 18- Which of the following is TRUE?
1) The meaning of a sentence is abstract, but context-dependent.
2) The illocutionary act is the act performed in saying something.
3) There is no distinction between a constative and a performative.
4) Pragmatics treats the meaning of language as something intrinsic and inherent

& 19-Which of the following is NOT a case of proform test?
1) The man stole the money and disappeared
2) What do you think of John? I can't stand him.
3) Have you ever been to Kerman? No, I’ve never been there.
4) Mary will open the gate with her credit card and John will do so, too.

R, 20- Which of the following sentences does not help to test the constituency of eat the apples in the sentence

John could eat the apples?
1) Eat the apples John certainly could! 2) What could John do? Eat the apples
3) John could do it. 4) John could eat them.
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1- Choice ""4"

Epenthesis is the process of inserting a consonant or a vowel. In option 4, /u/ is inserted into /pliz/ resulting in

/puliz/.

2- Choice "'4"

When two sound segments occur in sequence and some aspect of one segment is taken or “copied” by the other, the
process is known as assimilation. In this item, the first three choices are cases of regressive assimilation where an
earlier sound is affected by a later sound. In option 1, /d/ is affected by /g/ and becomes /g/. In 2, /b/ is affected by
In/ and becomes /n/.

3- Choice "1"

Borrowing is the process of taking over of words from other languages. Throughout its history, the English
language has adopted a vast number of words from other languages, including croissant (French), dope (Dutch),
lilac (Persian), piano (ltalian), pretzel (German), sofa (Arabic), tattoo (Tahitian), tycoon (Japanese), yogurt
(Turkish) and zebra (Bantu). Thus options 2 and 3 are out.

Backformation is also a process where a word of one type (usually a noun) is reduced to form a word of another
type (usually a verb). A good example of backformation is the process whereby the noun television first came into
use and then the verb televise was created from it. Other examples of words created by this process are: donate
(from ‘donation’), emote (from ‘emotion’), enthuse (from ‘enthusiasm’), liaise (from ‘liaison’) and babysit (from
‘babysitter’).

4- Choice 2"

Grician Maxims:

The maxim of quantity, where one tries to be as informative as one possibly can, and gives as much information
as is needed, and no more.

The maxim of quality, where one tries to be truthful, and does not give information that is false or that is not
supported by evidence.

The maxim of relation, where one tries to be relevant, and says things that are pertinent to the discussion.

The maxim of manner, when one tries to be as clear, as brief, and as orderly as one can in what one says, and
where one avoids obscurity and ambiguity.

In this item, the speaker is not telling the truth, thus violating or technically speaking flouting quality maxim.

5- Choice "3"

“Social knowledge” has no place in Chomsky’s notion of linguistic competence. Chomsky’s theory of linguistic
competence is actually a theory of grammatical competence. Unlike Halliday who questions the Chomskyan notion
of competence and seeks to replace it, Hymes seeks to expand it. For Chomsky, competence is a mental structure of
tacit knowledge possessed by the idealized speaker—hearer, but for Hymes, it is that plus the communicative ability
to use a language in concrete situations.

Because both Chomsky and Hymes accept and use the notion of competence, it is instructive to compare it in its
broadest terms. Chomsky’s notion is limited to the tacit knowledge of formal linguistic properties possessed by the
idealized speaker—hearer. Hymes’ notion goes well beyond that to include actual knowledge and ability possessed
by the language user. Furthermore, Chomsky’s notion is biologically based, whereas Hymes’ is more socially
based. “The former is purely individual, the latter is mainly social. The former concerns form; the latter concerns
function. The former characterizes a state; the latter involves processes”.
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6- Choice "1™

Option 1 is a case of function ambiguity. The two interpretations of this choice include:

e " Flying planes are dangerous" applies to the situation where ‘Flying’ is an adjective, referring to planes that
are up in the air as opposed to being on the ground.

e "Flying planes is dangerous" applies to the situation where ‘Flying’ is a gerund and refers to the
pilot’s occupation of flying a plane.

7- Choice "3"

Languages make an important distinction between two kinds of words—content words and function words. Nouns,
verbs, adjectives, and adverbs are the content words. These words denote concepts such as objects, actions,
attributes, and ideas that we can think about like children, anarchism, soar, and purple. Content words are
sometimes called the open class words because we can and regularly do add new words to these classes.

Other classes of words do not have clear lexical meanings or obvious concepts associated with them, including
conjunctions such as and, or, and but; prepositions such as in and of; the articles the and a/an, and pronouns such as
it. These kinds of words are called function words because they specify grammatical relations and have little or no
semantic content.

8- Choice 4"
Options 1 and 2 are cases of presupposition. Option 3 is neither a case of presupposition nor of entailment. And
option 4 is a case of entailment because it does not remain under negation.

9- Choice 3"
Isogloss is a line on a map separating two areas in which a particular linguistic feature is significantly different,
used in the study of dialect.

10- Choice ""2"

In all languages, the reference of certain words and expressions relies entirely on the situational context of the
utterance, and can only be understood in light of these circumstances. This aspect of pragmatics is called deixis
(pronounced “dike-sis”). Deictic expressions are classified as follows:

e Person or personal deictic expressions: which include pronouns such as I, he, you and expressions such as this
child.

¢ Time or temporal deictic expressions: which include expressions such as then, next week, this time, tomorrow, etc.

e Place or spatial deictic expressions: which include expressions such as here, there, this city, etc.

Thus in this item, option 1 is an instance of time or temporal deixis and options 3 and 4 are cases of person or
personal deixis. And option 2 is also a case of place or spatial deictics.

11- Choice "'1"

We use derivational morphemes to make new words or to make words of a different grammatical category from the
stem. For example, the addition of the derivational morpheme -ness changes the adjective good to the noun
goodness. The noun care can become the adjectives careful or careless by the addition of the derivational
morphemes -ful or -less. Thus one distinguishing characteristic of these morphemes is that they mostly change
part of speech. In option 1, by adding —ation to the verb vocalize, one can form the noun vocalization; thus, -ation
in this option is an instance of a derivational morpheme.
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12- Choice ""2"

Coherence is:

1. the way a text makes sense to the readers and writer through the relevance and accessibility of its configuration
of concepts, ideas and theories.

2. the semantic unity created between the ideas, sentences, paragraphs and sections of a piece of writing.

3. asemantic property of discourse formed through the interpretation of each individual sentence relative to the
interpretation of other sentences, with "interpretation™ implying interaction between the text, the reader and the
writer.

4. a property that a reader will discern in the text.

Cohesion is:

the grammatical and lexical relationship between different elements of a text that hold it together

13- Choice 3"

Anaphora: A pro-form that makes a textual connection to something previously referred to:

Ali was running fast. He didn’t want to miss the bus. (“He” refers to “Ali”)

Cataphora: A pro-form that makes a textual connection to what is to come:

| said this: Don’t do that! (“this” refers to “Don’t do that™)

Exophora: A pro-form that points to something outside the language of the text, which is only understood in the
context:

Look at that!

*» That” refers to something we cannot understand unless we are present in the context!

In this item, this refers to mom’s getting married. Thus it is a case of cataphora.

14- Choice "1"

Unlike semantics which deals with conventional meaning, pragmatics deals with aspects of meaning which are not
looked up but which are worked out on particular occasions of use. Pragmatics is more concerned with intended
speaker meaning as it is sometimes referred to. It is the study of the invisible meaning and is concerned with the
interpretation of linguistic meaning in context.

15- Choice ""3"

Every speech act that we perform has three components, which Austin calls locution, illocution, and perlocution.
The first refers to a propositional statement, the second to its intended meaning, and the third to its expected
response. The act of saying something, in and of itself, is a locutionary act. It is no more than a string of words
containing phonological (sounds), syntactic (grammar), and semantic (word meaning) elements put together in a
systemically acceptable sequence. In performing a locutionary act, one often performs such an act as “asking or
answering a question, giving some information or an assurance or a warning, announcing a verdict or an intention,
pronouncing sentence, making an appointment or an appeal or a criticism, making an identification or giving a
description, and the numerous like” (Austin, 1962, pp. 98-99). The perlocutionary act is the effect or the
consequence of an utterance in a given situation.

To illustrate a speech act, take a simple and short utterance, Move it. Here the locutionary act is the act of saying
move it meaning by move move, and referring by it to the object in question. If we assume an appropriate context,
the illocutionary act in this case is an act of ordering (or, urging or advising, or suggesting, etc., in different
contexts) somebody to move it. The perlocutionary act, again assuming an appropriate context here, is the act of
actually moving it.

16- Choice "'4"
If we think of a sentence as what people say in the course of communication, it becomes an utterance.

17- Choice ""2"
Generative semantics accounts for meaning directly, not through syntactic structure. In generative semantics, a
descriptive grammar begins with a deep structure that is semantic and, to some extent, pragmatic. This deep
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structure consists of combinations of semantic features, semantic relations, performatives, and presuppositions.
Deep structures are then subject to lexical insertions and transformations to ultimately yield surface structures,
which then serve as the structures to which the rules of the phonological component apply.

18- Choice ""2"

Another way to put the three terms of locutionary, illocutionary and perlocutionary is as follows:
e locutionary act is the act of saying something

e illocutionary act is an act performed in saying something

o perlocutionary act is an act performed by saying something.

19- Choice "1™

In linguistics, a pro-form is a type of function word or expression that stands in for (expresses the same content as)
another word, phrase, clause or sentence where the meaning is recoverable from the context. They are used either
to avoid repetitive expressions or in quantification (limiting the variables of a proposition).

Option 2: John — him

Option 3: To Kerman — there

Option 4: Open the gate with her credit card — do so

20- Choice ""4"

There are three kinds of evidence for constituents:

1. Replacement: this concerns the fact that a group of words may be replaced by a single word. In this item, choice
3 represents replacement as the verb phrase eat the apples is replaced by a form of the verb do.

2. Stand alone: a constituent can stand alone. E.g. What do you need? A chair. Thus in this item, option 2
represents stand-alone evidence.

3. Movement: this concerns the movement of phrases, in the sense that they may appear in different places. Thus
option 1 is a case of movement as the phrase eat the apples moves to an initial position.

21- Choice ""4"

An assessment is useful for as long as it:

» Promotes equitable decisions

» Has beneficial consequences

> |s free of bias

It should be noted that, a useful assessment can be either large-scale or small-scale. In simple terms, usefulness is
not reliant on the scale of its implementation.

22- Choice ""3"

Bachman and Palmer present two terms related to assessment: systematicity and substantive grounding. When
assessment is systematic, it means that the assessment is “designed and carried out according to clearly defined
procedures that are methodical and open to scrutiny by other test developers” (Bachman & Palmer, 2010, p.20).
That assessment is substantively grounded means that it is “based on a recognized and verifiable area of content,
such as a course syllabus” (Bachman & Palmer, 2010, p.20). In other words, the two main elements of assessment
are what is being assessed and how is it being assessed. Both must be included in a valid test situation.

23- Choice "1 & 4™

Bachman and Palmer identify three common misconceptions about language proficiency tests:

1-Believing that there is one “best” way to test language ability for any given situation, and thus having
unreasonable expectations about what language tests can do and what they should be.

2-Believing that language test development depends on highly technical procedures and should be left to experts.

3- Believing that a test is either “good” or “bad”, depending on whether it satisfies one particular quality (Bachman
& Palmer, 2010, p. 8).

Options 1 and 4 are actually alternatives to these misconceptions.
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™ 19- Which item is correct with regard to presuppositions?
1) John found a veterinarian for his cat: pragmatic presupposition, semantic presupposition

2) Corporate subsidies and tax cuts should be done away with by the said company:
pragmatic presupposition

3) John bought a more recently published book for the exam: NO pragmatic presupposition
4) Samantha patented her new invention: NO semantic presupposition

®W20-1In a ......... , the tip of the tongue simply moves up to contact the roof of the mouth in the dental or

alveolar region, and then moves back to the floor of the mouth along the same path.
1) laminal 2) dorsum 3) tap 4) flap

. 21- Evidence-centered design (ECD) used in test development and validation belongs to the .....

approach to language testing.
1) critical 2) authentic 3) systematic 4) psychometric

™ 22- Which of the following is NOT a valid argument for integration of language skills while assessing

them?
1) Language can be defined as an overarching ability, rather than as separate components.
2) Grammatical and lexical competences do not have any psychological reality.
3) Skill integration is important for authentic language use.
4) Some processes involved in language skills are shared.

W 23- Which statement is TRUE about the weak form of second language performance assessment?

1) Language is the means for fulfilling the task requirements rather than an end in itself.

2) Assessment is made on the basis of the extent to which the actual task itself has been achieved.

3) Tasks are used to elicit language to reflect the kind of real-world activities learners will
be expected to perform.

4) The focus of the assessment is less on the task and more on the language produced by the candidate.

™ 24- Kramsch has recently expanded the constructs of communicative competence and .........

competence to what she has termed ......... competence.
1) symbolic, interactional 2) interactional, symbolic
3) interactional, interlinguistic 4) interlinguistic, interactional

W 25- Which statement is NOT true based on the following listening comprehension test item?

A: Hello Rita. This is Mr. Smith at the office. Is John feeling any better today?

B: Oh yes, Mr. Smith. He's feeling much better now. But the doctor says he’ll have to stay in bed until Monday.
Question: Where is John now?

(A) At the office (B) On his way to work

(C) Home in bed (D) Away on vacation

1) Choice C is a completely faulty item because John's bed is obviously in hospital.

2) John's location cannot be derived solely from the linguistic context of the input.

3) Choice C is designed to measure the ability to decode meaning by mapping it onto an extralinguistic
context.

4) This test item could have been a clearer example of meaning extension had choice (C) been worded “At
home".
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W.26- The most recent aptitude test High-Level Language Aptitude Battery (Hi-LAB) measures three areas

1) grammatical sensitivity, inductive learning, and phonetic sensitivity
2) morphological sensitivity, working memory, and inductive learning
3) executive functioning, memory, and phonemic awareness

4) cognitive sensitivity, memory, and phonemic awareness

W 27- Alternative assessment is rooted in a cultural, epistemological, and axiological perspective that

is fundamentally different from that of traditional testing in all of the following cases EXCEPT.....
1) multiple assessment procedures
2) the emphasis on learning products or scores
3) the implicit nature of stakeholder relationships
4) the requirements for reliability and arguments for validity

W 28- In the past, the testing of listening comprehension was limited to the examiner's oral presentation of

linguistic input, either live or prerecorded, to a room full of examinees. Which contribution from technology
to language assessment is likely to have solved this problem?
1) Corpus linguistics is used to inform the design and validation of language assessments.
2) Technology has recently prompted test developers to reconsider the constructs that they test.
3) Natural language-processing technologies are being used for evaluating learners' spoken and written
language.
4) By evaluating examinees’ responses immediately as they are entered, a computer-adaptive test avoids items
that are either too easy or too difficult.

R, 29- Within the network of inferences linking test performance to a score-based interpretation and use,

the extrapolation inference connects .....
1) an observed score to a true score and assumes that performance on language tasks is consistent across
similar tasks in the universe, test forms, and occasions
2) test performance to an observed score, hinging on the assumptions that performance on a language test is
obtained and scored appropriately to measure intended language abilities
3) test tasks to test performances and is based on the assumption that test tasks are relevant to and
representative of real-world tasks in the target domain
4) the theoretical score interpretation to the domain score interpretation and is based on the assumption that
a theoretical construct accounts for performances on test tasks

R 30- The argument-based approach to validation is suited for ........
1) diagnostic, dynamic, and stealth assessments
2) classroom-based assessment and for local use of standardized assessments
3) contexts where the priority is to provide useful information for score users to make decisions that have

medium to heavy consequences on test takers
4) situations where assessment is relatively unimportant for test takers and providing information for score
users is not of paramount importance
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20- Choice ""3"

Sazemane Sanjesh declares choice “4” correct.

In a tap, the tip of the tongue simply moves up to contact the roof of the mouth in the dental or alveolar region, and
then moves back to the floor of mouth along the same path. In a flap, on the other hand, the tip of the tongue is first
curled up and back in a retroflex gesture, and then strikes the roof of the mouth in the post-alveolar region as it
returns to its position behind the lower front teeth.

21- Choice "3"

Shin (2012) proposed four approaches to item writing including psychometric, authentic, systematic, and critical

approaches. Among these approaches, the systematic approach which conceptualizes test design as a system

endorses the use of Evidence-centered Design (ECD) in developing test tasks/items.

» The critical approach looks at testing from a socio-political lens or perspective. It treats tests as political tools
within a context of power struggles.

» The authentic approach which is grounded in qualitative, subjective, and process-oriented view of testing
favors integrative, authentic, communicative, pragmatic, and real-life testing items.

» Psychometric approach grew out of positivist paradigm and has an objective, quantitative, and outcome-
oriented view of testing.

22- Choice ""2"

As pinpointed by Plakans (cited in Fulcher & Davidson, chapter 17) several hypotheses related to skill integration
are shaped in the literature: (a) language can be defined as an overarching ability, rather than as separate
components, (b) skill integration is important for authentic language use, and (c) skills can be combined because
they share processes.

23- Choice 4"

McNamara (1996) makes a distinction between strong and weak forms of second language performance
assessment, based on the criteria used for judging the performance. In the “strong” sense, assessment is made on
the basis of the extent to which the actual task itself has been achieved, with language being the means for fulfilling
the task requirements rather than an end in itself. In the “weak” sense, the focus of the assessment is less on the
task and more on the language produced by the candidate, with the task serving only as the medium through
which the language is elicited — successful performance of the task itself is not the focus of the assessment.

24- Choice ""2"

Kramsch has expanded further the constructs of communicative competence and interactional competence to
what she has termed “symbolic competence” (see Kramsch, 2006). In her conceptualization, knowledge of and
engagement with the systems of culture associated with language provide the basis for understanding the ways in
which users of the language establish shared meanings, how they communicate shared ideas and values, and how
they understand the world.

25- Choice "1™

Oller (1979) attempted to do an inferencing item as what follows:

Man’s voice: Hello Mary. This is Mr. Smith at the office. Is Bill feeling any better today?

Woman’s voice: Oh yes, Mr. Smith. He’s feeling much better now. But the doctor says he’ll have to stay in bed
until Monday.
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Third voice: Where is Bill now?

A) At the office.

B) On his way to work.

C) Home in bed.

D) Away on vacation. (Oller, 1979, p. 47)

Here, choice (C) is designed to measure the ability to decode meaning by mapping it onto an extralinguistic context
(i.e., implied pragmatic meanings) as Bill’s location cannot be derived solely from the linguistic context of the
input, but from the presupposition that Bill’s bed is in his home (i.e., he could have a bed in his office).
Nonetheless, this item could have been a clearer example of meaning extension had distractor (C) been worded At
home.

This approach to assessment supported Oller’s proposal to use “integrative” or “pragmatic” tests to measure a
learner’s “pragmatic expectancy grammar,” defined as a “psychologically real system that sequentially orders
linguistic elements in time and in relation to the extralinguistic contexts in meaningful ways” (p. 34).

26- Choice ""3"

The most recent aptitude test developed under the sponsorships of the DoD is the Hi-LAB (Linck et al. 2013).The
Hi-LAB consists of 11 measures testing executive functioning, memory, and phonemic awareness. Each of these
three skills is associated with more than one test, and all tests were delivered on a computer.

27- Choice 1"

Lynch and Shaw (2005) took a paradigmatic view that alternative assessment was rooted in a cultural,
epistemological, and axiological perspective that is fundamentally different from that of traditional testing in (1)
the requirements for reliability and arguments for validity, (2) the implicit nature of stakeholder
relationships (e.g., tester and test taker versus teacher and learner), and (3) the emphasis on learning products or
scores rather than learning as an ongoing process. They argued that traditional tests and testing culture promote
test-only strategies, whereas alternative assessment is informed by an assessment culture, which draws on multiple
sources of evidence, drawn over time, to support learning and decision-making.

28- Choice ""2"

According to Chapelle and E. Voss (2010), technology has prompted test developers to reconsider the
constructs that they test. One example is the use of multimedia in testing listening comprehension. In the past, the
testing of listening comprehension was limited to the examiner’s oral presentation of linguistic input, either live or
prerecorded, to a room full of examinees. Such test methods can be criticized for their failure to simulate listening
as it occurs in many contexts, where visual cues are also relevant to interpretation of meaning. The use of
multimedia provides test developers with the opportunity to contextualize aural language with images and to allow
examinees to control their test-taking speed and requests for repetition.

29- Choice 4"

As Kane (1992, 2004) maintained regarding the network of inferences linking test performance to a score-based
interpretation and use, domain description, links test tasks to test performances and is based on the assumption that
test tasks are relevant to and representative of real-world tasks in the target domain. The second inference,
evaluation, connecting test performance to an observed score, hinges on the assumptions that performance on a
language test is obtained and scored appropriately to measure intended language abilities, not other irrelevant
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factors. The third link, generalization, relates an observed score to a true score and assumes that performance on
language tasks is consistent across similar tasks in the universe, test forms, and occasions. The fourth link,
explanation, connecting a true score to a theoretical score interpretation, bears on the assumption that a theoretical
construct accounts for performances on test tasks. The next link, extrapolation, connects the theoretical score
interpretation to the domain score interpretation and is based on the assumption that a theoretical construct
accounts for performances on test tasks.

Dodmnain
description

q_hwq— e

Extrapolation

Evaluation Generalization

Explanation

; Utilization
Theoretical *

SE0TS
interpretation

Links in an interpretative argument (Adapted based on Chapelle et al. 2008)

30- Choice "'3"

The applications of the argument-based approach to the validation of language tests are growing (Chapelle et al.,
2008). However, controversies have been raised regarding the fit of this approach for classroom-based assessment
(Moss, 2003) and for local use of standardized assessments (Moss, 2013). The argument-based approach to
validation may be better suited for assessment contexts where the priority is to provide useful information for
score users to make decisions that have medium to heavy consequences on test takers and other
stakeholders, and new validation perspectives and paradigms are needed for classroom assessments (Moss, 2003).

31- Choice 1"
According to Lazaraton (2002), in the interviewer and the test candidate’s “co-constructed” discourse:

» Interviewers, through their talk and behavior (such as supplying answers, simplifying task directions,
completing or correcting test taker responses, and rephrasing questions), bring unpredictability into the
encounter, thus threatening test reliability.

» Test takers do not always produce the sorts of language or use it in ways that the test developers predict
intuitively in test design.

» As a genre, language assessment interviews do “share features with conversations [but] they are still
characteristically instances of interviews of a distinctive kind for the participants (Lazaraton 2002, p. 15).

» Pair and group orals, where test takers talk with one or more other test takers (instead of or addition to
engaging with the interviewer), have gained popularity for several reasons: they approximate pair and group
class activities; the power differential between interviewers and test takers is reduced; and a broader range of
speech functions are displayed in peer talk when compared to interviewer-test taker talk.

» Pair and group test talk has been shown to be influenced by gender, personality, proficiency, and
acquaintanceship, but the relationship between these variables, discourse produced, and outcome test scores is
still not well understood.
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W.29- Recent advances in item response theory and computer adaptive testing have made it possible to
administer certain types of language tests in a way that .........

1) identifies the kind of language use that we choose to adopt as the norm to be tested

2) minimizes the mismatches between cognitive abilities and the pragmatic abilities of test takers

3) emphasizes the authentic performance of test takers in real life situations

4) maximizes the fit between the difficulty levels of items and the ability levels of test takers

30- A major concern in the design and development of language tests, is to minimize the effects of

random factors and test method facets which are the primary concern of ......... , and personal attributes
that are not part of the language ability tested, which are the sources of .......... .

1) test bias - test invalidity 2) test validity - test invalidity

3) test bias - test reliability 4) test reliability - test invalidity

T 31- What is the T score of a student who scored 61 in a distribution, where M=41 and S=10?

1) 60 2) 70 3) 80 4) 90

W 32- Many language teachers see their role as assessor as contributing to .......... validity which suggests

that the integration of evidence including demographic information, student background, parental
information, and educational resources, as well as classroom performances, can be used to empower
teachers as advocates for learners.

1) pragmatic 2) consequential 3) concurrent 4) predictive

™ 33- Which of the following statements is NOT true about curvilinear relationships?

1) They should not be analyzed using a Pearson r.

2) They often occur when one of the sets of numbers is a function of time.

3) They are positive and negative relationships combined into the same scatterplot.
4) They occur when the observed correlation is larger than the critical value.

R 34- What are the three potential problems with correlational analysis?
1) Skewness, restriction of range, and causality 2) Outliers, restriction of range, and causality
3) Skewness, meaningfulness, and causality 4) Outliers, meaningfulness, and causality

™ 35- In estimating the dependability of criterion-referenced tests, approaches that consider all classification
errors as equally serious are referred to as ......... , while those that consider classification errors to vary
depending on how far the misclassifies domain score is from the cut-off score are called ......... .

1) phi dependability indices — phi (lambda) dependability indices

2) phi (lambda) dependability indices - phi dependability indices

3) threshold loss agreement indices - squared-error loss agreement indices

4) squared-error loss agreement indices - threshold loss agreement indices

R 36- Which of the following statements is NOT true about multiple-trait scoring?

1) It may be either general or task specific, but instead of awarding a single score to a performance, multiple scores
are awarded.

2) Each score represents a separate claim about the relationship between the evidence and the multiple underlying
constructs.

3) The method of constructing multiple-trait scoring systems may be through either expert committee judgment or
the analysis of samples.

4) The score tells us about the ability of the student to perform on a specific task, or a specific species of tasks,
rather than tasks in general.

R.37- As a type of reverse engineering in the process of test creation, ......... reverse engineering provides

insight beyond the test setting, and makes it possible to discover larger realities.
1) critical 2) parallel 3) test deconstruction 4) straight
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™ 38- What are the five components of Celce-Murcia, Dornyei, and Thurrell's model of communicative
competence?

1) sociocultural competence, actional competence, linguistic competence, discourse competence, and pragmatic
competence

2) sociocultural competence, actional competence, linguistic competence, discourse competence, and strategic
competence

3) sociocultural competence, actional competence, linguistic competence, discourse competence, and illocutionary
competence

4) sociocultural competence, actional competence, organizational competence, discourse competence, and
illocutionary competence

R.39- In Item Response Theory, the item information function gives differing information at different levels
of ability, that is, ......... .

1) a difficult item will provide very little information at high levels of ability and much information at low levels of ability
2) a difficult item will provide very much information at high levels of ability and little information at low levels of ability
3) an easy item will provide very much information at high levels of ability and little information at low levels of ability
4) an easy item will provide very little information at high levels of ability and little information at low levels of ability

R.40- Which of the following statements is NOT true about phi dependability index?
1) It is a general-purpose estimate of the objective-referenced dependability of a test.
2) It gives no information about the reliability of the individual objectives-based subtests.

3) It estimates the overall dependability of the scores independent of a cut-score.
4) It is also known as the generalizability coefficient of absolute error.

T 41- Which of the following does NOT refer to standard error of the mean (SEM)?

1) Itis the degree to which the results from the sample deviate from those that would be obtained from the entire population.

2) There is an inverse relationship between sample size and SEM. In other words, as the sample size increases,
SEM falls.

3) It is the range within which the mean of the population is likely to be from the mean of the sample at a given
level of probability.

4) The standard error of the mean is the standard score of the different sample means if you took multiple samples
from the same population.

W 42- Which of the following refers to discriminate validity?

1) The agreement between a theoretical concept and a specific measuring device

2) The lack of a relationship among measures which theoretically should not be related

3) The general agreement among ratings, gathered independently of one another, where measures should be
theoretically related

4) An unforeseen, and unaccounted for variable that jeopardizes reliability and validity of an experiment's outcome

R.43- Which of the following is NOT true? Operational definitions ........

1) take an abstract idea and make it measurable

2) conform to the requirement of statistical analysis

3) increase the probability that experiments will succeed

4) refer to a procedure that specifies the meaning of a concept

W 44- The dependent variable is so called because ......... .

1) scores on this variable can be expected not to vary in an experiment

2) scores on this variable depend on how they are manipulated by the researcher

3) scores on this variable are hypothesized to depend on, and vary with, the value of the independent variable

4) the outcome of an experiment is hypothesized to depend on the effect that this variable has on the independent variable
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30- Choice 4"

According to Bachman (1990), our primary interest in using language tests is to make inferences about one or more
components of an individual’s communicative language ability. A major concern in the design and development of
language tests, therefore, is to minimize the effects of test method, personal attributes that are not part of language
ability, and random factors on test performance. Similarly, the interpretation and use of language test scores must
be appropriately tempered by our estimates of the extent to which these scores reflect factors other than the
language abilities we want to measure. Random factors and test method facets are generally considered to be
sources of measurement error, and have thus been the primary concern of approaches to estimating reliability.
Personal attributes that are not considered part of the ability tested, such as sex, ethnic background, cognitive style
and prior knowledge of content area, on the other hand, have traditionally been discussed as sources of test bias,
or test invalidity.

31- Choice "2""
According to James Dean Brown, to calculate T-score, we must first calculate z-score through the formula:
X-M
Z=——
S
X =student's score
M = mean

S= standard deviation
In this example, X is 61, M is 41, and S is 10. Thus:
. 61-41

T2
10

Now we can convert z score into T-score through the formula:
T =10z +50

T=20+50=70

32- Choice 2"

According to Fulcher & Davidson, it is not surprising that many language teachers see their role as assessor as
contributing to consequential validity. It is suggested that the integration of evidence, including demographic
information, student background, parental information and educational resources, as well as classroom
performance, can be used to empower teachers as advocates for learners. One clear example of this is in the
provision of resources for English language learners in the mainstream US educational system. The process of
integrated assessment could be used to improve educational systems beyond the school by showing what
sociocultural and resourcing issues impact upon language learning and general educational development.

33- Choice "4

According to James Dean Brown, an important assumption of the Pearson Product Moment Correlation is that the
relationship between the two sets of scores should be linear. In other words, fitting a straight line through the
points on the scatterplot must make sense. An ideal perfectly straight line is obtained when the correlation
coefficient is + 1 or -1. In reality, such a perfect linear relationship is seldom obtained. When the relationships
obtained are not linear, we call them curvilinear. Curvilinear relationships should not be analyzed using a
Pearson r. Such relationships often occur when one of the sets of numbers is a function of time. Also
curvilinear relationships are produced when the positive and negative relationships are combined into the
same scatterplot.

34- Choice "1™

According to James Dean Brown, there are a number of ways in which interpretations of results can go awry in
applying correlational analysis to the problems of test development. Three potential pitfalls may occur: restriction
of range, skewedness, and causality.
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35- Choice "'3"

Bachman (1990) describes two approaches to estimating the dependability of criterion-referenced tests:
Threshold loss agreement indices: these approaches treat all misclassifications as equally serious. Two
examples of these approaches include the agreement coefficient and the kappa coefficient. Both of these
approaches measure the consistency of masters/non-masters classifications.

Squared-error loss agreement indices: these indices treat misclassification errors near the cut-off score as less serious
than those far from the cut-off score. An example of these indices includes phi(lambda) dependability index.

36- Choice 4"

Fulcher & Davidson describes the differences between primary-trait scoring and multiple-trait scoring as follows:
Primary trait scoring allocates a single score to a performance, but the scoring procedure is designed for each
individual task, or class of tasks. Weigle (2002: 110) lists the components of a primary trait scoring guide as follows:

- a description of the task

- a statement of the primary trait (construct) to be measured

- a rating scale with level descriptors

- samples of performance to illustrate each level

- explanations of why each sample was graded in the way it was.

As a rating scale is required for each task or task type, the development process is much longer and more complex.
There are multiple scales that have to be used by raters if they are to assess more than one task type, thus making
the rating process more difficult. However, primary trait scoring benefits from the requirement that there have to be
very careful and explicit statements linking evidence to claims. This means that samples have to be judged by many
experts, and the key features that make one performance better than another have to be laid out so that other experts
would be likely to come to the same judgments as the test developers.

Note, however, that the score tells us only about the ability of the student to perform on a specific task, or a
specific species of tasks, rather than tasks in general. What we gain in explicitness and a stronger validity claim
has to be offset against a reduction in the generalizability of the meaning we may wish to invest in the score.
Multiple-trait scoring may be either general (as in holistic scoring) or task specific (as in primary trait scoring), but
instead of awarding a single score to a performance, multiple scores are awarded. Each score represents a
separate claim about the relationship between the evidence and the multiple underlying constructs. The method
of constructing multiple-trait scoring systems may be through either expert committee judgment or the analysis
of samples. This is also the case with analytic scoring, which requires the counting of something (e.g. errors) in order to
arrive at a score.

37- Choice 3"

According to Fulcher & Davidson, there are five types of reverse engineering, and the types overlap:

- Straight RE: this is when you infer guiding language about existing items without changing the existing items at
all. The purpose is solely to produce equivalent test questions.

- Historical RE: this is straight RE across several existing versions of a test. If the archives at your teaching
institution contain tests that have changed and evolved, you can do RE on each version to try to understand how
and why the tests changed.

- Critical RE: perhaps the most common form of RE, here as we analyse an item, we think critically: are we testing
what we want? Do we wish to make changes in our test design?

- Test deconstruction RE:- whether critical or straight, whether historical or not, provides insight beyond the test
setting. We may discover larger realities - why, for instance, would our particular test setting so value close
reading for students in the seat-belt and attendance items? What role does close inferential reading have to the
school setting? Are these educators using it simply to produce difficult items and thus help spread out student
ability - perhaps in a bell-shaped curve? The term ‘test deconstruction” was coined by Elatia (2003) in her analysis
of the history of a major national language test.

- Parallel RE: In some cases, teachers are asked to produce tests according to external influences, what Davidson
and Lynch call the ‘mandate’. There may be a set of external standards outside the classroom - as, for example, the
Common European Framework. Teachers may feel compelled to design tests that adhere to these external
standards, and, at the same time, the teachers may not consult fully with one another. If we obtain sample test
questions from several teachers which (the teachers tell us) measure the same thing, and then perform straight RE
on the samples, and then compare the resulting specs, we are using RE as a tool to determine parallelism.
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38- Choice 2"

Celce-murcia, Dornyei and Thurrell’s model of communicative competence (as cited in Fulcher &
Davidson):

Celce-Murcia et al. (1995: 5) argue that since the Canale and Swain (1980) model ‘there has been no serious
endeavour to generate detailed content specifications for CLT that relate directly to an articulated model of
communicative competence’. Although they refer to Bachman (1990) and Bachman and Palmer (1996), these
models are criticized as relating only to the context of language testing. That is, they are seen as being
conceptualized as tools for language testing, rather than as more general models of communicative competence.
Secondly, Celce-Murcia et al. are critical of the types of content specifications that have been developed on an ad
hoc basis for syllabus design, because they were not built on a model of communicative competence. What they
attempt to do, therefore, is produce ‘a detailed description of what communicative competence entails in order to
use the sub-components as a content base in syllabus design’.

This model is made up of five components. Discourse competence remains a separate component as defined by
Canale (1983a, 1983b), while actional competence appears as the knowledge required to understand
‘communicative intent by performing and interpreting speech acts and speech act sets’ (1995: 9). Indeed, it is the
appearance of actional competence that makes this different from the Canale model, as it separates the ability to
understand speech acts from sociolinguistic competence. However, sociolinguistic competence is re-labelled as
sociocultural competence ‘to better distinguish it from actional competence’. Grammatical competence is also re-
labelled as linguistic competence as it includes lexis and phonology as well as syntax and morphology. The
definition of strategic competence is essentially unchanged from Canale and Swain (1980) as a set of skills for
overcoming communication problems or deficiencies in other competences, rather than the more general set of
cognitive strategies envisaged by Bachman and Palmer (CelceMurcia et al., 1995: 27). This model is presented
graphically as follows:

Socio
cultural
competence

Discourse
competence

Linguistic Actional
competence competence

Strategic
competence
39- Choice 2"

The answer key given by Sazemane Sanjesh (i.e. 1) is definitely wrong.

There are a number of limitations on both CTS theory and G-theory with respect to estimating the precision of
measurement. First, estimators of both reliability and generalizability, and the standard errors of measurement
associated with them, are sample dependent, so that scores from the same test administered to different groups of
test takers may differ in their reliabilities. A second limitation is that error variance is treated as homogeneous
across individuals, so that estimates of reliability or generalizability are based on group, rather than individual
performance. That is, measurement error is assumed to be the same for individuals whose test performance is
excellent, poor, or average, so that a low score on a test is regarded as just as reliable an indicator of ability as an
average score.

These limitations on the CTS theory and G-theory approaches to precision of measurement are addressed in the
IRT concept of information function. The item information function refers to the amount of information a given
item provides for estimating an individual’s level of ability, and is a function of both the slope of the ICC and the
amount of variation at each ability level. In general, the steeper the slope of the ICC and the smaller the variation,
the greater the information function. Thus, a given item will have differing information functions at different levels
of ability. That is, a difficult item will provide very little information at low levels of ability, since virtually all
individuals at these levels will get the item wrong. Similarly, an easy item that high ability individuals uniformly
answer correctly will not provide much information at this ability level. Thus, the information function of a
given item will be at its maximum for individuals whose ability is at or near the value of the difficulty parameter.
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40- Choice "1™

According to James Dean Brown, the phi dependability index (Q) is also known as the generalizability coefficient
for absolute error. Phi is a general-purpose estimate of the domain-referenced dependability of a test. This
interpretation assumes that the items are sampled from a well-defined domain and gives no information about the
reliability of the individual objectives-based subtests. Nevertheless, phi does provide a handy way to estimate
the overall dependability of the scores without reference to a cut-score.

41- Choice "'4"

Choices (1): In statistics, a sample mean deviates from the actual mean of the population, and this deviation is
called the SEM.

Choice (2): The terms standard error of mean and standard deviation are often confused. The contrast between the
two terms reflects the important distinction between the data description and inference. SD is a valid measure of
variability regardless of the distribution while the SE of the sample mean depends on both the standard deviation
and the sample size, and SEM falls as the sample size increases.

Choice (3): SEM is a computed value based on the size of the sample and the standard deviation of the distribution,
indicating the range within which the mean of the population is likely to be from the mean of the sample at a
given level of probability.

Choice (4): SEM is the standard deviation of the distribution of the sample means that gives analysts an estimate of
the variability that they would expect if they were to draw multiple samples from the same populations.

42- Choice "'2"

Construct validity seeks agreement between a theoretical concept and a specific measuring device or procedure. It
can be broken down into two sub-categories: Convergent validity and discriminate validity. Convergent validity is
the actual general agreement among ratings, gathered independently of one another, where measures should be
theoretically related. Discriminate validity is the lack of a relationship among measures which theoretically
should not be related.

43- Choices "2 & 3"

Operational definitions:

a. make terms used in a study as explicit as possible,

b. take abstract theoretical concepts and make them measurable variables,

c. specify the procedure or operation to be followed in producing or measuring a concept.

44- Choice 3"

According to Ary (2018), in its simplest form, an experiment has three characteristics: (1) An independent variable
is manipulated; (2) all other variables that might affect the dependent variable are held constant; and (3) the effect
of the manipulation of the independent variable on the dependent variable is observed. Thus, in an experiment the
two variables of major interest are the independent variable and the dependent variable. The independent variable is
manipulated (changed) by the experimenter. The variable on which the effects of the changes are observed is called
the dependent variable, which is observed but not manipulated by the experimenter. The dependent variable is so
named because its value is hypothesized to depend on, and vary with, the value of the independent variable.
For example, to examine the effect of different teaching methods on achievement in reading, an investigator would
manipulate method (the independent variable) by using different teaching methods in order to assess their effect on
reading achievement (the dependent variable).

45- Choice "1™

There are two important psychometric properties - reliability and validity. Reliability deals with the extent to
which a measure yields consistent results across two attempts of testing. Validity refers to the extent to which a
study actually captures or measures what it purports to examine.

The real difference between reliability and validity is mostly a matter of definition. Reliability estimates the
consistency of your measurement, or more simply the degree to which an instrument measures the same way each
time it is used under the same conditions with the same subjects. Validity, on the other hand, involves the degree to
which you are measuring what you are supposed to, more simply, the accuracy or truthfulness of your measurement.
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T2 68- To which SLA theory does the principle ‘learners tend to process the first noun or pronoun they

encounter in the sentence as subject and/or agent’ belong?
1) Pienemann’s Processibility Theory 2) Chomsky’s Universal Grammar Theory
3) Lantolf’s Sociocultural Theory 4) VanPatten’s Input Processing Theory

T 69- Which of the following is NOT correct about The Silent Way?

1) It gives primacy to learning over teaching.

2) It was essentially developed based on the desuggestopedic triangle.
3) It generally assumes conscious control of learning for students.

4) It claims that L2 learning is radically different from L1.

T\ 70- Which of the following is correct about the Sociocultural Theory?

1) The theory considers ZPD and scaffolding as essentially the same concepts.

2) The theory discusses and confirms the similarity between the ZPD and Krashen’s i+1.
3) The theory considers language as a cultural tool used to carry out abstract activities.
4) The theory is grounded in the genetic law of cultural development.

R\ 71- ‘Non-native-like structures in the L2 in spite of abundant linguistic input and years of practice’ is the

best definition for ........ .
1) linguistic unsystematicity 2) avoidance strategy
3) fossilization 4) interlanguage

TR 72- All of these features characterize the construct of L2 explicit knowledge EXCEPT:

1) response using rules 2) no time pressure

3) primary focus on meaning 4) low degree of certainty in responses
T 73- ‘Taking risks wisely’ and ‘rewarding oneself’ are examples of .......... strategies.

1) affective 2) metacognitive 3) cognitive 4) social
TS\ 74- Based on the tenets of the sociocultural theory, successful learning involves a shift from ............
activity to ........ activity.

1) collaborative inter-mental - autonomous intra-mental
2) collaborative intra-mental - autonomous inter-mental
3) autonomous intra-mental - collaborative inter-mental
4) autonomous inter-mental - collaborative intra-mental

T\ 75- Gathering classroom information through videorecording by a researcher other than the teacher is
......... and can be considered .........

1) etic — less intrusive 2) emic — more intrusive  3) etic — more intrusive  4) emic — less intrusive
2 76- Which of the following is among the variable (and not absolute) features of ESP curricula and teaching?

1) It may be restricted as to the language skills to be learned

2) It is designed to meet the specified needs of the learner

3) It is centered on the language appropriate to activities in discourse, semantics, and the analysis of this discourse
4) It is related in content to particular disciplines and activities

TR 77- Which of the following is NOT a syllabus type?

1) Register-based syllabus 2) Task-based syllabus
3) Project-based syllabus 4) Genre-based syllabus
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- In which stages of a metacognitive pedagogical sequence for listening, ‘monitoring an roblem
R 78- In which stag f gnitive pedagogical seq for li ing, ¢ itoring and probl

solving’ are found?
1) pre-listening and first listen 2) first listen and second listen
3) second listen and third listen 4) third listen and evaluation & planning

T\ 79- Which aspect of L2 speech does NOT contribute to a lack of intelligibility?

1) misplaced prominence 2) incorrect word stress
3) clear articulation of consonants 4) speaking too fast

T2 80- With regard to using grammar in a writing classroom, which one of the following is NOT expected in

a sample text-analysis lesson?
1) Ignoring cohesive devices
2) Discussing tense and time frame shifts
3) Unpacking meanings in sentences in context
4) Comparing language differences across genres or text types
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67- Choice "2" Source: Ellis, R. (2012, p. 272).

Table 9.1 Focus on form versus focus on forms

Aspect Focus on form Focus on forms

Orientation Language-as-tool Language-as-object

Type of learning Incidental Intentional

Primary focus of attention ~ Message Code

Secondary focus of attention Code Message

Acquisitional processes Interpsychological Conscious rule-formation;
mediation; proceduralization;
intrapsychological automatization;
mediation; noticing; monitoring
noticing-the-gap; modified
output.

Syllabus type Task-based Structural

Target selection Proactive and reactive Proactive

Instructional processes Tasks; Exercises;

scaffolded production; consciousness-raising

dynamic assessment; through the provision of
input-priming; negotiation explicit rules; structured

of meaning; corrective input; controlled

feedback; production practice; free
consciousness-raising production practice;
through tasks corrective feedback

68- Choice "4" Source: VanPatten, B. (2015, p.p. 74-75).

Input processing: The claims

The most widely known model for input processing has been developed by Bill VanPatten. In that model, learners’
processing strategies are couched in terms of principles that guide processing. Following are four of the major
principles in the model. Each of these principles has corollaries or “subprinciples” that refine and explicate them.

e Learners process content words in the input before anything else. Called the Primacy of Content Words, this
principle claims that L2 learners come to the task of acquisition knowing that words exist and seek these as the key
elements to the meaning of an utterance.

e Learnerswill processlexical items for meaning before grammatical forms when both encode the same meaning.
Here the idea is that when redundancy exists in language, lexical items are processed prior to grammatical form as
a natural consequence of the Primacy of Content Words. This is called the Lexical Preference Principle.

e Learners tend to process the first noun or pronoun they encounter in the sentence as subject and/or agent.
Regardless of learners’ first language, this principle is posited as a universal tendency among learners. The idea is
that word order serves as a major first cue to who did what to whom even when the word order leads to a wrong
sentence interpretation. This is called the First-noun Principle.

e Learnerstend to process items in sentence initial position before those in sentence final position and those in
sentence medial position. This is the only principle that deals with what is called salience in the input. It is referred
to as the Sentence Location Principle.
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69- Choice "2" Source: Richards & Rogers (2001, p.p. 82-83).

Option (1): Gattegno’s repeated emphasis on the primacy of learning over teaching places a focus on the self of
the learner, on the learner’s priorities and commitments.

Options (3 & 4): Gattegno states that the processes of learning a second language are “radically different” from those
involved in learning a first language. The second language learner is unlike the first language learner and “cannot
learn another language in the same way because of what he now knows” (Gattegno 1972: 11). The “natural” or
“direct” approaches to acquiring a second language are thus misguided, says Gattegno, and a successful second
language approach will replace a natural approach by one that is very artificial and, for some purposes, strictly
controlled. The “artificial approach” that Gattegno proposes is based on the principle that successful learning involves
commitment of the self to language acquisition through the use of silent awareness and then active trial.

70- Choice "4" Source: VanPatten, B. (2015, p. 214). Theories in second language acquisition.

Options (1) & (2): There are two general misconceptions about the ZPD. The first is that the ZPD is equivalent to
scaffolding (or assisted performance) and the second is that it is similar to Krashen’s notion of i + 1. Both
assumptions are inaccurate.

Option (3): SCT (socio-cultural theory) construes language as a cultural tool used to carry out concrete goal
directed activities.

71- Choice "3" Source: Mitchell & Myles (2013, p. 142).

Fossilization, that is, non-native-like structures in the L2 in spite of abundant linguistic input and years of practice,
is a result of declarative knowledge that is non-native-like becoming automatized.

72- Choice "3" Source: Mitchell & Myles (2013, p. 137).

Table 5.1 Operationalizing the constructs of L2 implicit and explicit knowledge (source: R. Ellis,
2005b, p. 152)

Criterion Implicit knowledge Explicit knowledge

Degree of awareness Response according to feel Response using rules

Time available Time pressure No time pressure

Focus of attention Primary focus on meaning Primary focus on form

Systematicity Consistent responses Variable responses

Certainty High degree of certainty in Low degree of certainty in
responses responses

Metalinguistic knowledge = Metalinguistic knowledge Metalinguistic knowledge
not required encouraged

Learnability Early learning favoured Late, form-focused instruction

favoured

73- Choice "1"  Source: Mitchell & Myles (2013, p. 22).

Memory strategies e.g. “creating mental images”

Cognitive strategies e.g. “analyzing and reasoning”, “practising” (both repetition and natural practice)
Compensation strategies e.g. “guessing intelligently”, “adjusting the message”

Metacognitive strategies e.g. “setting goals and objectives”, “self-evaluating”

Affective strategies e.g. “taking risks wisely”, “rewarding yourself”

Social strategies e.g. “cooperating with peers”, “asking for clarification or verification”

Oxford’s (1990) taxonomy of learning strategies
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74- Choice "1" Source: Mitchell & Myles (2013, p. 222).

Regulation, scaffolding and the Zone of Proximal Development: The mature, skilled individual is capable of
autonomous functioning, that is of self-regulation. However, the child or the unskilled individual learns by
carrying out tasks and activities under the guidance of other more skilled individuals (such as caregivers or
teachers), initially through a process of other-regulation, typically mediated through language. That is, the child or
the learner is inducted into a shared understanding of how to do things through collaborative talk, until eventually
they internalize or appropriate new knowledge or skills into their own individual consciousness. S0, successful
learning involves a shift from collaborative inter-mental activity to autonomous intra-mental activity. The process
of supportive dialogue which directs the attention of the learner to key features of the environment, and which
prompts them through successive steps of a problem, has come to be known as scaffolding.

75- Choice "3" Source: Celce-Murcia, M. (2014, p. 625).
Celce Murcia presents a two-way matrix for gathering classroom information (see table below):

More Intrusive Less Intrusive
(A) B)
A videorecording (video + audio) is made. * An audio-recording only is made.
+ A video- (or audio-) recording is made for | * A video- (or audio-) recording is made for the
the first time. fifth time.
A videocamera that is large and bulky is put | * A videocamera that is small is put out of sight
at the front of the room. of students.
o | * Learners participate in analyzing video recordings | * Learners participate in analyzing video-recordings
&= | during class time. of lessons only after a course has ended.
A trained observer is inside the classroom. * A trained observer watches a video-recording of lesson.
* The in-class observer is someone unknown | * The in-class observer is someone learners know
to learners. and are comfortable with.
o« The in-class observer takes notes or | ® The in-class observer watches and listens, tries to
completes an observation schedule live in the | blend into the background, and composes field notes
classroom. only after the lesson has ended.
* A supervisor gathers information on teaching | ® A teacher gathers information on teaching through
for a formal assessment of teaching. self-initiated collaborations with peers/colleagues.
© (D)
« Students compose journals in which they | * The teacher keeps a journal or engages in a
discuss their experiences in the course and how | regular practice of lesson reporting that focuses on
they perceive the course. course experiences and perceptions.
* The teacher conducts student focus groups. : A third party conducts student focus groups in
) ) which learners’ comments are kept anonymous.
* Students are f.req.u ently 1nterv1ewed.. ) * Students are infrequently interviewed.
) Whole-class,’ 1n51de-the-classroom discussions | , o qide-of-class discussions with individual learners
about learners. perceptions -an'd preferences are about their perceptions and preferences are conducted
conducted while the course 1; in process. while the course is in process.
2| A stpdent. fOCPS group, with the whole class | . A gdent focus group, with only some class
5 participating, is held. members participating, is held.
: The teacher serves as the focus group | . A teacher-colleague serves as the focus group
facilitator. . facilitator.
* Students cqmplete sev§ral 1nstrgctor assessment |, gpdents complete a single end-of-term instructor
forms at different points during the course | ,ccoccment form (summative).
(formatlve). . » Transcripts are generated for discourse analysis
* Five-minute papers are assigned frequently | ojocc o ovents
and on a regular bas1s.' . * The teacher uses stimulated recall only after the
* The tea}cher uses stimulated recall while the course is over.
course 1S I process. *  The teacher gathers information on teaching
: The teacher and leamer§ collabqrate to gather without learner participation (but may collaborate
information on the teaching-learning process. with colleagues).
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76- Choice "1" Source: Celce-Murcia, M. (2014, p. 472).

Strevens’s (1988) definition of ESP makes a distinction between:

Absolute characteristics: ESP consists of English language teaching which is:

e Designed to meet the specified needs of the learner;

o Related in content (i.e., in its themes and topics) to particular disciplines, occupations and activities (and contexts);
¢ Centered on the language (and behaviors) appropriate to those activities in syntax, lexis, discourse, semantics
(etc.) and analysis of this discourse;

e In contrast with General English.

Variable characteristics: ESP may be, but is not necessarily:

e Restricted as to the language skills to be learned (e.g., reading only);

e Not taught according to any pre-ordained methodology.

77- Choice "1" Source: Celce-Murcia, M. (2014, p.p. 50-51).

Syllabus types:

e Grammatical, formal, or structural syllabuses

¢ Notional-functional syllabus

e Task-based syllabus

o Skills-based approaches

o Lexical syllabus

e Genre or text-based syllabus

e Project-based language learning

e Content-based instruction and content and language integrated learning
e Negotiated syllabus

78- Choice "3" Source: Celce-Murcia, M. (2014, p. 85).

# Planning and predicting

)

Pre-
listening J—

# Monitoring, evaluation, and planning
# First verification

«

Firsc
listen

# Monitoring, evaluation, and problem

solving

Second ® Second verification
@ ’
W ® Monitoring and problem solving

| Thi ificati
Third | ® hird verification
listen | A
M # Reflection
Evaluation | @ Goal-serting

& planning ;

R —— T sper—

Fgure 3. A metacognitive pedagogical sequence for
Estening (based on Vandergrift, 2004).
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79- Choice "3" Source: Celce-Murcia, M. (2014, p. 144).

Which aspects of L2 speech contribute most to a lack of intelligibility?

Numerous studies have revealed the importance of suprasegmental features in intelligible speech. However,
segmental issues can affect intelligibility as well. Specific features shown to cause a lack of intelligibility include:

e misplaced or missing prominence

e incorrect word stress

o insufficient differentiation in syllable duration between stressed and unstressed syllables, thereby creating an
unnatural speech rhythm

e lack of clearly articulated consonants, both in final position and in stressed syllables

e speaking too slowly and/or too fast

e too many pauses and/or pauses that are too long

e too little variation in pitch

80- Choice "1" Source: Celce-Murcia, M. (2014, p.p. 246-247).

Sample text-analysis lessons

The following are a few examples of lessons that focus on grammatical features in texts:
e Tense and time frame shifts

e Unpacking meanings in sentences in context

e Identifying cohesive devices

e Comparing language differences across genres or text types

e Expressing stance: Hedging
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